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(A) & £ £ 42 (Priority scheduling)

(B) £ 3 & PR 7% (First-come first-served)

(C)& =1 i% ik £ (Short-job-first)

(D) 74 #& ~ pe (Round-robin)
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(A) FTP

(B) DHCP

(C) WWW

(D) DNS
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(A) & #_ % 4 7 JR 7% (Infrastructure as a service)

(B)X & PR ix (Platform as a service)

(C) #x 8 7 JR 7% (Software as a service)

(D) & * T PR 3% (Application as a service)
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(A) = ’ﬁ Z (Public cloud)

(B)# 3 Z (Private cloud)

(C)® = Z (Hybrid cloud)

(D)4 # Z (Community cloud)
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. FTP ~ Telnet&_Jj§ * T 7|98 - f& LR R

(A)F % & (Data link layer)
(B)*® & & (Network layer)

(C) € % % (Session layer)

(D)®& * & (Application layer)

InternetE_ * o8 - & F AL L FF G R FT AL ?
(A)#t ¢ < 3 (Packet switching)

(B):t & % 4 (Message switching)

(C)® E. % # (Circuit switching)

(D)#c = % # (Digital switching)
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(A) T p* i 72 (Real time processing)

(B)#+ =t m 2 (Batch processing)

(C) 2 # }k F 32 (Interactive processing)

(D) % 1 T2 (Multi-tasking processing)
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(A)ﬁ;tB > (Field)—» = ~ (Bit)—> &= =~ =2 ( (
¢ 4% (Record)— ¥ #% & (Database)

(B)’H}? = (Field)— = ~ (Bit)— = ~ 2 (Byte)— 3= & (Record)—
¥ % (File)— F # & (Database)

(C) = ~ (Bit)» = =~ ¥ (Byte)— # = (Field)— & & (Record)—
# % (File)— F # & (Database)

(D) = ~ (Bit)—> i ~ 2 (Byte)— i & (Record)— # = (Field)—
¥ % (File)— F # & (Database)
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)@ ;%@’E (Cloud computing)
B) ¥ #L 4 # (Data mining)

C)+ =5 % (1oT)

D) % %t & 47 (System analysis)
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(A)F 1‘ (Data)

(B) ¥ 3t (Information)
(C)*‘&*% = (File)
(D) § #* E (Database)

12,8 % B i (Algorithm)shdc it » T 7] e ¥ & i ?
(A) o 3F & 8 & B (Infinite loop)
(B)* - BHFe 4 B P D> F R
(C)Z > & § - & »
(D)¥® ™ X} ﬁ%l d
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(A) Bl 25 (Graph)
(B)#t(Tree)

(C) = 71 (Queue)
(D)3z 4 (Stack)
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first out) 1 > ‘\ ?
(A)'L 7| (Array)
(B)# 4 (Stack)
(C) = 71 (Queue)
(D) &l 2} (Graph)

A B T OF R g B *F L i A 8 (First in

15.% & % % - B = =~ #f (Binary tree) & = & & 4_3* (Preorder
traversal) » Bl 3% = ~ #5812 (Root) & & ¢ £+ A 4_3 mﬁi%] A
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16.1# * - ~ ¥ % ;= (Binary search)if i+ §_
A)FHREEF &L
(B)F e £ G # A i
(C)FH#® 24w F ¢ 2 FTH
(D)F # - % & ™ - =~ 3 F #H(Binary search tree)™ % & % %
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B2 (Graph) F At B 1 & % k& 5 FA T e A M % 2
(A) ¥ B
(B)fé 4
(C)id &
(D)4r #f

B > B ) (Graph) & chéc it - T 7 ;F%z‘,f%g%?

(ARl 2 ¢ 7 8 B2

(B)Bl 2, - = 4 3 > w |t

(CAn AR chd F 8- %3 B B & chil

(D)ﬁ%'/?i(Path){ale B 7 (Sequence)ﬁqugé , Ho¥ ;‘_E' e T -
% B AP AR
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A2 w5 d YA Y (Compiler)# # = p 4% (Object code) 8
f2d o R g ATV B ET

(A)3F i# & ¥ (Syntax error)

(B): & 4 ¥ (Semantics error)

(C)Eéﬁ’fé ¥ (Logical error)

(D)34 7 4% 3% (Run time error)

T et - B E R 2 E B 4 1 42 3% 3% 3H (Structured programming)
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(A) 5 & % 1 (Sequential structure)

(B)sg' # % 1 (Selection structure)

(C)# % % # (lteration structure)

(D)4 # % # (Pointer structure)

FERASFES gt b Tirjz  (Comment)ihi & % 3¢ 5 i ?
(A)H 1 % FE =
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(C) 34 4c #2 ;% 38 |4

(D) 4 4258 en ™ 3 12
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22. 8 »v P 3E @ B (Pre_test loop) % & B 3# & B (Post_test loop)sis
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(D) il e B3 7 eh=c fich 5 £ '8 5 =
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(A)#f 7 5% = (Tree structure)
(B) * 4F % # (lteration structure)
(C):% # % ¢ (Selection structure)
(D)if i % 4 (Recursive structure)

25. 7 F AR PR T 0 % Hsum=7
sum=10;
i=1;
while (1<=30)
{ sum=sum+i;
I=i+3; }
(A)142
(B)145
(C)152
(D)155
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26. 7 A AR P B TR A 18 > T while (i<=30) ) it B 2 7 o= dic

EN

sum=10;

i=1;

while (i<=30)

{ sum=sum-+i;

I=i+3; }

(A)9=x

(B)10=x

(C)11=

(D)12=x

27. T 7l A PR TR AL 0 FEiDiE Z P Y
sum=10;
i=1;
while (i<=30)
{ sum=sumH+i,;
I=i+3; }
(A)28
(B)29
(C)30
(D)31

28.1& * GoogleZ = PR 4% % & = Word#§ » &> 78— I8 PR3+ ?
(A)Google#r i*
(B)Google~ ©#
(C)Google & #
(D)Googlefs ¥

295 2 F LT BIEEEA L P2
(A) A4 = & 4 - R d] -7 -
(B)Az 4 - E 7 — 41 7 >R ] -
(Cl Az >R 3 ST fr o 7 o
(D)= 4p >R 3] >R 7 5% £
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(A)Google # H
(B)Google B
(C)Googlepr &
(D)Googles -
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31.0 ** Googlets iT T 5 endcik » T 5 i@
(A)g = B A A A 5 g *
(B)t: (FL 2% 11 5 A X %hik
(C)F £ 5 e F & # i # » YouTube®: ¥
(D)7 it d GoogleZ = A ¢ & = §2 (¥ L 5
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(A)Google P &
(B)Google Z = & -
(C)Google#r
(D)Google i 3
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35.5 1 W P P MEBLE 2 T Ak P F oA D
(A)= 3 % { %75
(BYE 48 * 3+ 3 & en¥ 3 § 7 %48
(C)E @ * i3 ko= BB
(D)2 > = * kM35 * PR BB
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40.
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(A) = * 3 %8 (Public domain software)

(B) % % #x %8 (Freeware)

(C)p ¢ #x %2 (Free software)

(D)+ % 4 %2 (Shareware)
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(A)Https

(B)Ftp

(C)Telnet

(D)Cookie
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